Combining Rules

1.Find the derivative function for each of the following:
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a) f(x)= (11;2;2 j b) y=3(1+3x)(2- x)* o) f(x)=x3v2x+3x?
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d) o(x) = (3x-5F(3x* -2x+1)' e k(x)= % f) f(x)=e>Inx
g) h(x) = e*sin(3x) h) y =1+ x On(x+2) i) (x)=sin(x*)os(1-x)
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2. Find the equation of the tangent lineto f (x) =2x+ 1(3 - x)2 at the point where X = 4.
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3. Find the equation of the tangent lineto f (x) = at the point where x = 3.
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1 of all tangents which pass through the externa point K (O, - 8)
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4. Find the point of contact to f (x) =

whichisnoton f(X).

5. Find the equation of the tangent lineto f (x) =43~ x(3x +1)2 at the point where x = —1.
{25x+y+17 =0}

6. Find the equation of the tangent line and the normal lineto f (x) =+6- x(5 - xz)2 at the point where
X=2.

{tangent 65x = 4y —138 = 0, normal 4x — 65y +122 = 0}

7. Find the equation of the tangent lineto f (x) = 4x? —5x + 5In(3x —8) at the point where x = 3.
{34x-y-81=0}

8. Find the equation of the tangent lineto f (x) =g [l]n(exz) at the point where x = 3. {15x-y-36 =0}

9. Find the equation of the tangent line to f(x) =3c0s’ X +4sinx+5 at the point where x = 0.
{4x-y+8=0}






